PO:







AVILES ENGINEERING CORPORATION

5790 Windfern Road, Houston, Texas 77041 - 713-895-7645 - Fax 713-895-7943

rec 426877 11/7/17

Invoice

 Invoice Date:
 09/30/17
 AEC Invoice No.:
 091741C

 AEC Project No.:
 C145-17
 Customer ID:
 FTBCENG

Client: Fort Bend County Engineering Department

Project: Owens Road Paving and Drainage Improvements (Mobility Project No. 13403)

Bill to: Email or Mail to:

Fort Bend County Engineering Department

Attn: J. Stacy Slawinski, PE

301 Jackson St.

Richmond, TX 77469

Attn: Robert E. Barker, Sr. VP

11111 Wilcrest Green Dr., Suite 128

Houston, TX 77042-4739

rbaker@othon.com

Cı	Invoice Amount	
Construction Mat	erials Testing and Inspection Services	
on the	above Referenced Project	\$9,145.15
(See Atto		
	Subtotal	\$9,145.15
Terms: Net 30	Total Due this Invoice:	\$9,145.15
		DK 755 11 6
PRO	DJECT INVOICING SUMMARY TO DATE	(ON) SS 11/0
	Purchase Order (PO) Amount:	\$38,015.95
	Amount of this Invoice:	\$9,145.15
	Amount of Previous Invoices:	\$16,567.33
	Amount Invoiced including this Invoice:	\$25,712.48
	Amount Remaining including this Invoice:	\$12,303.47
	Percent of Estimate Complete:	67.6%

Please Remit to:

Aviles Engineering Corporation 5790 Windfern Road Houston, Texas 77041

Please Include Invoice Number on all Remittance. Thank You and We Appreciate Your Business.

Project: Owens Road Paving and Drainage Improvements

AEC Project No.:

C145-17

Client: Fort Bend County Engineering Department

Invoice Date: 09/30/17

Invoice No.:

091741C

	Report				Unit	
Date	No.	Description	Quantity	Unit	Rate	Amount
9/6	43	Engineering Technician	6.5	Hour	\$ 65.00	\$ 422.50
	***************************************	Nuclear Density Gauge (D 6938)	6.5	Hour	\$ 10.50	\$ 68.25
		Vehicle Charge	6.5	Hour	\$ 10.00	\$ 65.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/7	44	Engineering Technician	8	Hour	\$ 65.00	\$ 520.00
	7	Engineering Technician - Min Charge	0.75	Hour	\$ 65.00	\$ 48.75
		Vehicle Charge	8.75	Hour	\$ 10.00	\$ 87.50
		Compressive Strength (Cylinder) (C 39)	5	Each	\$ 17.00	\$ 85.00
		Project Engineer, P.E	0.2	Hour	\$149.00	\$ 29.80
9/7	45	Liquid & Plastic Limits (D 4318)	1	Each	\$ 62.00	\$ 62.00
		Percent Passing No. 200 Sieve (D 1140)	1	Each	\$ 48.00	\$ 48.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/8	46	Engineering Technician	5.75	Hour	\$ 65.00	\$ 373.75
		Vehicle Charge	5.75	Hour	\$ 10.00	\$ 57.50
		Compressive Strength (Cylinder) (C 39)	4	Each	\$ 17.00	\$ 68.00
		Project Engineer, P.E	0.2	Hour	\$149.00	\$ 29.80
9/8	47	Engineering Technician - Min Charge	4	Hour	\$ 65.00	\$ 260.00
		Vehicle Charge - Minimum Charge	4	Hour	\$ 10.00	\$ 40.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/8	48	Liquid & Plastic Limits (D 4318)	1	Each	\$ 62.00	\$ 62.00
		Percent Passing No. 200 Sieve (D 1140)	1	Each	\$ 48.00	\$ 48.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/9	49	Engineering Technician	2.25	Hour	\$ 65.00	\$ 146.25
		Vehicle Charge - Minimum Charge	4	Hour	\$ 10.00	\$ 40.00
		Project Engineer, P.E	0.2	Hour	\$149.00	\$ 29.80
9/12	50	Engineering Technician	4.5	Hour	\$ 65.00	\$ 292.50
		Nuclear Density Gauge (D 6938)	4.5	Hour	\$ 10.50	\$ 47.25
		Vehicle Charge	4.5	Hour	\$ 10.00	\$ 45.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/12	51	Rpt of Thickness Tests on LS Subgrade	1	Each	\$ -	\$ -
· · · · · · · · · · · · · · · · · · ·		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/13	52	Engineering Technician	4	Hour	\$ 65.00	\$ 260.00
		Vehicle Charge	4	Hour	\$ 10.00	\$ 40.00
		Compressive Strength (Cylinder) (C 39)	4	Each	\$ 17.00	\$ 68.00
	<u> </u>	Project Engineer, P.E	0.2	Hour	\$149.00	\$ 29.80

Project: Owens Road Paving and Drainage Improvements

AEC Project No.:

C145-17

Client: Fort Bend County Engineering Department

Invoice Date: 09/30/17

Invoice No.:

091741C

	co Date.	U9/3W/1/				
	Report				Unit	
Date	No.	Description	Quantity	Unit	Rate	Amount
9/14	53	Engineering Technician	2.25	Hour	\$ 65.00	\$ 146.25
		Vehicle Charge - Minimum Charge	4	Hour	\$ 10.00	\$ 40.00
		Project Engineer, P.E	0.2	Hour	\$149.00	\$ 29.80
9/16	54	Engineering Technician - Min Charge OT	4	Hour	\$ 97.50	\$ 390.00
		Vehicle Charge - Minimum Charge	4	Hour	\$ 10.00	\$ 40.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/16	55	OMD Standard Compaction (D 698)	1	Each	\$204.00	\$ 204.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/16	55A	Optimum Lime Content - pH Method (D 6276)	1	Each	\$235.00	\$ 235.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/19	56	Engineering Technician	5.5	Hour	\$ 65.00	\$ 357.50
		Nuclear Density Gauge (D 6938)	5.5	Hour	\$ 10.50	\$ 57.75
		Vehicle Charge	5.5	Hour	\$ 10.00	\$ 55.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/20	57	Engineering Technician	4	Hour	\$ 65.00	\$ 260.00
		Vehicle Charge	4	Hour	\$ 10.00	\$ 40.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/20	58	Engineering Technician - Min Charge	4	Hour	\$ 65.00	\$ 260.00
		Nuclear Density Gauge (D 6938) - Min. Charge	4	Hour	\$ 10.50	\$ 42.00
		Vehicle Charge - Minimum Charge	4	Hour	\$ 10.00	\$ 40.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/21	59	Engineering Technician	8	Hour	\$ 65.00	\$ 520.00
		Engineering Technician - Overtime	1.5	Hour	\$ 97.50	\$ 146.25
		Nuclear Density Gauge (D 6938)	9.5	Hour	\$ 10.50	\$ 99.75
		Vehicle Charge	9.5	Hour	\$ 10.00	\$ 95.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/21	60	Report of Lime Application Inspection	1	Each	\$ -	\$ -
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/22	61	Engineering Technician	5	Hour	\$ 65.00	\$ 325.00
		Engineering Technician - Min Charge	1	Hour	\$ 65.00	\$ 65.00
		Nuclear Density Gauge (D 6938)	6	Hour	\$ 10.50	\$ 63.00
		Vehicle Charge	6	Hour	\$ 10.00	\$ 60.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/22	62	OMD Lime Stabilized Soil (D 698)	1	Each	\$225.00	\$ 225.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70

Project: Owens Road Paving and Drainage Improvements

AEC Project No.:

C145-17

Client: Fort Bend County Engineering Department

Invoice Date: 09/30/17

Invoice No.:

091741C

	Report				Unit	
Date	No.	Description	Quantity	Unit	Rate	Amount
9/23	63	Engineering Technician - Overtime	4	Hour	\$ 97.50	\$ 390.00
		Vehicle Charge	4	Hour	\$ 10.00	\$ 40.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/27	64	Engineering Technician - Min Charge	4	Hour	\$ 65.00	\$ 260.00
		Nuclear Density Gauge (D 6938) - Min. Charge	4	Hour	\$ 10.50	\$ 42.00
		Vehicle Charge - Minimum Charge	4	Hour	\$ 10.00	\$ 40.00
		Project Engineer, P.E	0.3	Hour	\$149.00	\$ 44.70
9/29	65	Engineering Technician	4	Hour	\$ 65.00	\$ 260.00
		Vehicle Charge	4	Hour	\$ 10.00	\$ 40.00
		Compressive Strength (Cylinder) (C 39)	4	Each	\$ 17.00	\$ 68.00
		Project Engineer, P.E	0.2	Hour	\$149.00	\$ 29.80
					Total =	\$9,145.15

Harris, Britten

From:

Slawinski, Stacy

Sent:

Tuesday, October 31, 2017 9:39 AM

To: Cc: Harris, Britten Crawford, Wesley

Subject:

FW: C145-17 September 2017 Invoice

Attachments:

C145-17 September 2017 Invoicing #091741C.pdf

Britten,

Please process the attached invoice.

Thanks,

Stacy Slawinski

stacy.slawinski@fortbendcountytx.gov

281-633-7508 office

From: Robert "Bob" Baker [mailto:rbaker@othon.com]

Sent: Monday, October 30, 2017 6:15 PM

To: Slawinski, Stacy Cc: Crawford, Wesley

Subject: FW: C145-17 September 2017 Invoice

Stacy,

The attached Aviles invoice for testing services on Owens Road agrees with Othon records and is recommended for payment. Thanks, Bob

From: Aviles Engineering Reports & Invoices [mailto:reportsandinvoices@avilesengineering.com]

Sent: Monday, October 23, 2017 8:40 AM

To: Robert "Bob" Baker

Subject: C145-17 September 2017 Invoice

Attached is the 2017 September Invoice, along with all corresponding backup for this project. If you have any concerns regarding this invoice please contact us at your convenience. Thank you.

Regards,

Ms. Angel Morales

Aviles Engineering Corporation 5790 Windfern Rd. Houston, Texas 77041 Office: 713-895-7645

Fax: 713-895-7943

The information transmitted is intended only for the person or entity to which it is addressed and may contain confidential and/or privileged material. Any review, retransmission, dissemination or other use of, or taking of any action in reliance upon, this information by persons or entities other than the intended recipient is prohibited. If you received this in error, please contact the sender and delete the material from any computer.